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Sel= 10t 3AI0 2HOIAH0IA HIE OtAI2 &tli= AtA S
28 1 - FZAIE 0188 FAE BIET/
@ thatS 0|88t BAIE =D
otLtel 2tMeh 2& 20l that2 201 "that + 2&" &AL
= GMEZ BIROAM =0 &2 SHOZ AL 5= ASLICH

(0l) That she passed the exam is a lie.
(DIt AES HARCHE A2 HRLO0ICH.)
@ if E2 whetherE 012N SEE(YAMR) OHSD)

"if" E2 "whether"E B HAIZ 0/&olH "—0IX Ot Xl"el=
S £ ACH, OlM UENHX HAE2 SHOUHZ2 AIEE = U
(Gll) | don't know if he will come tonight.

(22t s =X ¢ 2Xles 222Ct.)

Key word: miss
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- "if"JF 248 2H "he will come tonight"0l 2HA O &EXMII SA

"know"2l SHONIt TASLICH
@ 2AZAME 0/ EcH HAE S|

S| 2 At how, what, where, who, when, why S0 GtLISl &tFE 2E0| 2 &=
1 MAOF L2l HAFEOl ELICH
@ how (EZHEHOILE AEHE 2= 9I2AF 1 BAIZ2 AIZELICH.)
(Oil) | don't know how | can pass the exam.
(Ll LHOF OENH O AlES S0 & £ JASX 2220H)
- "how"Jt StLtSl 2t&St 22& "I can pass the exam"0fl M 1
HMOE SAF "know"2] SHE(BME)ZN FES ot USLIC.
® what ("R2A"0l SHEE= A2 A @ GAILE EEAIZ2 A = ASLICH)
(0ll) Would you tell me what | should do?
(LHOF 2= olloF ot=Xl LI Lol =AL1?)
- "what | should do" &AMJI StLISl HAIEZ A SAF "tel "2
NESHEN HAE=2 otd USLICH.
© where ("OICIOI"2l= S92 2I2A})
(0il) Do you know where he lives? (JJF O{CIOI Ab=Xl OFLI?)
- "where's "HA'E 2= QSA0IXCH O S& A SAF "know" 2
SHEzZ MEE 5+ USLITH
@ who ("SR"QIJIE S5 2=2AH)
(0ll) Do you know who passed the exam? (Y S2JF A& &A3=X 0OFLI?)
- "who passed the exam" AtXIJI SAF "know"2l SEHEZ M YALE Q|
ELICE.
® when ("AH"2l= AlI2ZtE S 22AH)
(0ll) Tell me when | can leave.
(LHOF 9l MY &= JU=X Lol =HMR.)
- "when | can leave'e= 484 SAF "tel "2 ESHN I=2 ot=
"HALE"0| ELICH.
@ why (OIRE E= 2A2AH)
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- "why she left the party early" &Mt otLISI HAIEZ Al EFSAH

(0l) Do you know why she left the party early?
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